Kiz Mobility
2

Rogue2 Transit

=

o

5)

t-

1,
",

‘.:*.
||I
i
bop
_f,&

For further backrest hardware, please see the "Rogue2 Backrest Mount and Hardware" parts manual page. Rogue? transit cannot be
retrofitted. If needing to add transit, a new frame will be required through the Rogue2 Replacement Frame Kio configurator.

Item Number Part Number  Description Quantity
1a, 2-4, 6-17 117598 ggg:siéggggzmate with Hardware, Black, Right 1
1b, 2-4, 6-17 117599 'girgg’sgggggzmate with Hardware, Black, Left 1
la 115552 Back Plate, Transit, Right, Black 1
1b 115553 Back Plate, Transit, Left, Black 1
2 116329 Rigid Backrest Saddle, Narrow, 1.375" 4
3 003232 M6 x 55 BHCS Blk Zc 2
4 100658 M6 Nylock Nut Blk Zn 2
7 115570 Eternal Retaining Ring, 3/8" 1

12-27-2024



[tem Number  Part Number  Description Quantity

8 103022 M5 Washer, Blk Zn 1
9 103283 M5 Top Lock Nut BZ 1
10 115571 Eternal Retaining Ring, 5/8" 1
11 115546 Strike, 3.364 1
12 115573 M6 x 25, BHCS, CLS 10.9, NYL, BLZ 1
13 103284 M6 x 35 Shoulder Bolt BZ 1

12-27-2024




